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PHYSICAL SCIENCES
Time : 90 minutes _ Max.Marks : 100
1. The & - value of a given transistor is 0.99, then the fF - value is
e85 PR @) o - Densd 0.99, S - Bo¥) Dendd
a) 99 b)9.9 ¢)9 - d)0.99

2. A wave is travelling on a string is given by y(x,#)=10sin (0. lx —221‘). The
wavelength (,1) and frequency (n) of the wave are given by

&8 So@p (Dasrdod a8 Ssori y(x,7)=10sin(0.1x — 22/ )3 SrdoS0ssSs.
©ond SBorpgssn (A)S8ak des:SsEn(n)
a)62.9cm,3.5Hz b)31.4cm,7Hz c¢)0.002cm, 0.3Hz d) 6.28cm, 35Hz

3. Lissajous figure produced by two sine waves of equal frequency w and equal
amplitude A but 90° out of phase will be

B DS PgEven HBAD JIFES BodH H6HS A 50 90° SeePsdn Lo Bod
RevdBorre ourgEiHnsn Sed EES dIne Do

a) A diagonal line of length A
A P& EDR SE505% BEFoSEor Bo $568y
b) A circle with radius A
A Tggsn o GEn
¢) An ellipse with major axis - A
ASers egore Ko BESasessn
d) Asine wave
¥ D SBoKID

NC-16/T Code-102 (1)




b) /2
; d)37/4
5 5 ‘Two systems have same resonance frequency. Their quality factors are in the ratio
3 1:2, the ratio of relaxion times is
BotH FgShen JEES @S PS:Pegen BOAHHD. T8 508 heesee Jad 1:2
o8, HT°08 Sero Y |
a)2:1 b)iil2
c)l:4 g 4]
6.

The fourier coefficients of a sawtooth wave are
- Body st dorre $Bdﬁq oeaseen
a) Even multiples of the wave frequency
BBl ;PS8 HBKHEsEeD
b) Odd multiples of the wave frequency
SBolS 5: P8 Baicaseen
c¢) Integral multiple of wave frequency :
S0l TP PIGEWI Defes 3 ‘aoqaé-a Deas s B
:-ji‘, d) None &,
St

Which one of the following represents the differential equation for the iongltudmal
vibration of bar

r::g. Bod =R D6 ©S@Lgor Eodd Sopre wdEes HHHESHEE iﬁﬁﬂézoﬁ
A d’x/df’ +2b dx/dt+w'x =0




_ b) C128
d) C-512

‘9. Length contraction happens only
| QoS % 836 SrED Senthsod
 a) Perpendicular to the direction of motion
S Sod 6¥H voworr
'b)-Aloﬁg direction of motion
5% So3846
¢) At 30° to the direction motion
SH SoveEH 30° SPoins®
d)Bothaand b '
. asbam b

10. Which of the following is the formula for change in fringe shift in Michelson Marley
~ experiment :
& (80b 08° 2B BeS &3 l:_aarﬁoé‘ 58 DRBHBE® Sy K000

an=2lviic bn=2Pv/Pcon=21/Ac"  dn=2" ! Ac*

!_1‘?? ',:f 1‘.\;’.‘ :g,_;*“ LW :

11. If'E"ig the total energy of the planet revolving in an orbit around the sun and if

: E > 0, the orbit of the planet is

;rwmmﬂ@ammé;mﬁo@'ﬁ‘mﬁmt‘mm%

) b)Parabola ¢) Ellipse d)cmm o A L
R -

- '-:1:‘..| t




13

14,

HomEdes 3845

b) Gravitational Intensity
KEEgS 85

¢) Gravitational force
HBoEdes 200

d) Gravitational potential
Koe SBYHS

In the case of central forces which of the following statement is not correct

Solaad nered® & [Bod TYpE® SODIB S8 2O

a) Central force is conservative
Solpuh Do :}656'51170

b) The torque acting on the particle is always zero
Zeasinp HVB D &) e ErdgEn

c) The areal velocity of the particle does not remain constant
Dk S JBore Hottd

d) The central force is negative
DO ePd)ESD

The S.I unit of bending moment is

Sowd |grnshn s S.I Hirmsn

a) J-m

b) N-m




-

15.

a) 0.25 b) 1.25 ¢) 0.55 d) 0.75
16. The limiting values of Poisson's ratio are
FarerS B @Bo¥) ©SHen
a)0.5and -1 b)1.5and-1  ¢)1and-0.5 d)0.5and- 1.5
17. Iftwo vectors 2i + 3j-4k and 6i - 8)-pk are perpendicular to each other, the value of
Ipl is
21 + 3j-4k 85w 61 - 8j-pk en 2.5ASES womorr HoT, 'p' Densd
a)4d b) 5 c)3 d) 2
- SRR,
18. leB‘ + ‘A.B‘ is equal to
S0l o 2
|[AxB| +|4.B| & oo 08 ssrsin
a)AB b)A’B c)A+B d)A’B?
19.  Which of the following is an example for axial vector
3 Lﬁo& FIE DO @écﬁ) HHELD areirin
a) Displacement b) Torque ¢) Linear velocity d) Force
g0 2] BPodH IKsm Do
20. The value of ~constant 'C' for which the vector
T i(x+ 3y)+ j(y ._22) +k(x+cz) is solenoidal
A=i(x+ 3y)+j(y—23)+k(x+cz)ua‘n RBF POonE D SrdR 'C' e
a)+2 b) -2
c) +3 d)-3 :
NC-16/T Code-102 (5 [PT.O.

n = 8x10'°N/m?, the Poinsson's ratio is

‘The Young's modulus for steel is y = 2x10'"N/m?and its rigidity modulus is

%w ahof Hesssn 2x10'"'N/m? S8y gsee Heessn 8x10"°N/m?, Sranars 238




11 The field ime ndependent Schroedinger equation s an example or e

field

a) Field having no divergence and no curl
ebdtmEn Hb 5B FEeds

b) Field having divergence and no curl
B555mED Hod 858 ol

¢) Field having curl and no divergence
55 Hod, e B Fardl

d) Field having curl and divergence
' 80 Hddin ©DdBeED H) éﬁ.ﬂ“mﬁ

22. InRutherford scattering experiment, the number of scattered particles per unit area
is Proportional to
5255 $§ D BAERENE’, (Sire Bosin Wod MFDwsn 3063 Swro Sowg
——————————— B 5 FS0e® Hotnod
a)l/sin‘@/2 bZ c) Z? d) V2

23. Arocket burns 0.05kg of fuel per second and ejects the burnt gases with a velocity
of 5000 ms, the reaction is '

‘8 T°BS af LoD 0.05kg 505SEnD HoBodSHGD, dnHen 5000 ms,
BKE06® STEEDE, (B8 I

a) 250N b) 225N c) 210N d) 230N

24. When interia tensor operates on angular velocity w, it produces

vector
W Edah BridnD el gris BB $adnss

-------- 80% Doyd%08.

a) Force b) Torque
Desn trB)
¢) Angular momentum d) Angular velocity
sfdat (e Srssm sfdan Fnsw
|
NC-18/T Code -102 (6)
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26.

215

28.

29,

C 53ofen IV ITRH —mmmmmme D5 DODIETRY JBI

a) Law of conservation of energy

R S

b) Law of conservation of mass

(585078 D5y Dot

c¢) Law of conservation of momentum
B85 Defgeby D

d) Law of conservation of angular momentum
SaD (BSRK Qe Dk

Ifa particle moves with a velocity(v) very much less than the velocity of light(c), then
its mass is equal to

28 Sodin So83K508° FYIH o S IKE0E® (V) HairdodSHd, o
i

a) Zero b) Infinity

Erdg0 ©S5085m

c¢) Equal to rest mass d) Double the rest mass

Do (550mB8 SIS Do (B8 G BEOHDH SRS

A transistor has an I_of 100mA and I of 0.5SmA, the value of &, is

2.8 (PRt 150050 I Devben S 100mA H8atn 0.5mA oas, &, DeoS
a) 0.995 b) 0.89 c) 0.92 d) 0.84

If' 4" is the permeability of free space and ' &' is permittivity of free space, then
the velocity of light is given by

' ' EoB0D ' &0 Erlgaieds pRddod Do $8B28e vand oKy
a) 1/ €, b v s

& 17 oo d)  Ho&

In parallel resonant LCR circuit at resonance, the impedance is given by

SEross whwd LCR Sochind® obmrsin 5§, ostissn (2) Deos
a)R b) I/R ¢) L/CR d) CR/L

NC-16/T Code-102 ™ PTO.




S rt of B
- 30. Viscnm of gas is due to theu-anspﬂ S
i mJ 6 tyf w5 (806 8 BRG HeS aﬁp&o&d o
' 'a) Mass b) Heat energy ¢) Momentum );; ;::;
s a4 (550 L

th is inversely proportional to .
i gﬁff%ﬁfm & (808 @igm:sgo DES G pB0S” dotnob
a) Molecular diameter
®ED SHRHRDNK
b) Square of the molecular diameter
®EDRHOD DTS
¢) Square root of the molecular diameter
_ OeaTRED SPrerdd
d) Fourth power of the molecular diameter
SEDTHORD B0 auegz:’: VI TR o i=y)

32. A camot engine takes 10° kile calories of heat from a reservoir at 627°C and exhaust's
it to a sink at 27°C. The efficiency of engine will be s

627°C 38 &%) baoxchth $08 a8 seoeys aoBo 10° 8&F86%°6e LR Eﬁ&sﬂoﬂ}
2T a’JcS X505 H andod. ::Sﬁao{;éfm Gt GES

a) 2 2.2% b)33.3% (QEIT.
c) 44.4% d) 66.6% 4
33. dQ=dUis valid for
dQ = dU e S2n88emn & Bod S5 K008
a) Adiabatic process b) Isothermal process
355 e $3g e
c) Isobaric process d) Isochoric process
ot ot B, o
DDED BEas IV SRR SO E’)@dﬁ}
34. Entropy is zero for which of the fulluwing process
& (Bod RS Ao’ O Kt &ri5o
a) Isothermal process b) Isochoric process
Dy Scen ) :
¢ Thjm?mf S o305 (HEcben
i lons d) Reversil;lle adiabatic process
8 BC B HEEE S5e
NC-18/T Code -102

(8) v 1ot O, r




35. The first Tds equation is

i) Tds:&b:éﬁamap oS
9 Tds=C,dT +T(-),dV ) Ta‘s=CvdT+T(§)pdv

¢) Tds =C,dT - T(a_f) »dV  d)None (das)

36. The part of the internal energy that can be converted into work is represented by

HOP S00S OBLS FBE® gPrEQ ~---mmmmmm - ©Ot5H5
a) Enthalpy b) Helmholtz
05r8) &) FG Bdaso

¢) Gibb's function  d) Total heat
Af) Bbaddn  Iwdo 8

37. The only substance that remains in the liquid state even at absolute zero
BB Erly SRS B Eroe (SSErS06° Hod JBE Sergo
a) Hydrogen b) Water ¢) Helium d) Oxygen
'Q'E‘.‘aﬁ QB SOcHS P

38. A paramagnetic material has 10° atoms/m”. Its susceptibility at 350k is 2.8x 107",
The susceptibility at 300k is

el o ©cHIMed JoPPED 10% S8&red/m’ SOAHHD 360k 5§ I2DDE
2.8%10 eond 300 38 SHRHOE -———=-=-=-

a) 3.267x10°
b) 3.267x10°
) 3.267x10*
d 3.267x10*

39. Hamiltonian opcraturis
HBED3HNS ested
M':z 2 b) | =A% /2mV> —v
o) [~h? /2mV* +v |w ) v

o[n/2m*v? + vy d) None

: ,)gNC-lﬂ'r Code-102 ) [P.T.0.
i



41.

42.

43,

NC-18/T Code -102

. 'Sllper cunduc.tors shows Meissner effect

eBimes S [Sersin & Bod Sottes® SrRHEos
a) At normal temperature
B ailel>) ﬁ%&a 38
b) Above critical temperature
Soby agfrs Soz K esfrse 3l
¢) At critical temperature
Sobi a&gl{% 58

d) Below critical temperature

‘aﬂo&g aé’g@é g S8 &%ﬁii&@ éﬂg

The decimal equivalent (SB6E), is
(SB6E) & $5»333% Sarod o8y

a) 23406 b) 23684
c) 22443 d) 23928

If'A’ be the gain of the amplifier, 'A ¢ be the gain with feedback and' /' is the feedback
ratio then for negative feedback which one of the followi ng is correct

A oDF0 STE ergrolin, 'A! 038 HI0)FES ergrossn Oy ! B 'o56
DIQIEE VB wows, averdE HIOFeIE & Bod E° $SBFSE

Af A
A: A —
i U D
/ Af
A — A:
s ST DS

If'Q,' is the heat rejected by a refti gerator to the hot body, 'Q.' is the amount of heat

taken by the refrigerator from cold body and 'w' be the work done by the external
agency, then the coefficient of performance of a refrigerator is

Q) &556 BReBeE IS5 853000 48

BHBK] 48 HB0% 'W' ©HBE ebAS 5 wow
Q2 '

Blge—x

w

'Q,' 038 S 359 Hod OpesSeod
8, BPaitend $udck Messy

(10)



45.

46.

47.

48,

a
w
W
c) ‘QE
w.
d) 51'

be

TS S8irmd Inss Sg T5RGED 0.53A eniss Sgrs s
a) 0.193A° b) 4.24A

c) 2.12A° d) 8.48A°

A hydrogen atom is in the P - state. The values of J for it will be
‘,_PL&IS&aE DBre P - Pand® H5\B ewond 08 J Dense
a)1/2,1/4 b) 3/2,1/2 c) 5/2,3/2, 1/2 d)-1/2, 1/2, 3/2

The angular momentum of electron is J. it's magnetic moment will be
TS @) BB (EHFKE J, 008 wahImos (s
a) mJ]/2e b) e]/2m c) 2m/el] d) emlJ/2

- In Rutherford's scattering experiment of ¢ - particles by metallic foils, with the

increase of atomic number of nucleus, the scattering angle is

Henisd) S5 TheD o - Sere ErEd $8 DgHe L{a@aﬁﬁmeﬁs, éolis.‘{m BoE) HSre
Sogg DEA od, DgHe Ssin

a) Remains unchanged b) Decreases
S BHone Hotnod SiH&Hod

¢) Increases d) First decreases and the increases
DErOBD Bl S SHTE DEHHB

According to Yukawa, the basis of nuclear forces is the exchange of

SoEear (B, BolE weren & (808 Bwro SrO)d S0l Djeron

a) Electrons b) 7-mesons  ¢) Photons d) Protons
Qoseien - oo Prden [Persoen

NC-16/T Code-102 (11) [P.T.O.

The radius of first orbit of hydrogen atom is 0.53A°. The radius of its fourth orbit will

L



49, When Beryllium is bombarded by & - particles, then we obtain
FODCHD % ( - Eerod® ©Prdim BoBONKIH & Léo&: Seren 8 EEP0D

a) Electrons _ b) Protons
Deofgzden . [DFerien

c) Positrons d) Neutrons
oY | e

50. The binding energy per nucleon of deuteron (,H?) and of helium atom (,He*) s 1.1 ME:V.
If two deuteron atoms react to form a single helium atom the energy released is

ExdoeS ((H?) 5805w SdchSH S8smeand) (,He') &° 2595, goEﬁé Zer08 20858 48
1.1MeV. BotH dhosy 8% 2.8 ErdahS H8Ereadd 655D, Ddioons 48

a) 13.9MeV
b) 23.6MeV

’ c) 269MeV I;:
d) 19.2MeV

|
51.  Which ofthe following counter has high efficiency and large life usage f
& (800 86" BRR ©bE S5 DBak IS Ty EH@RACSSIS |

a) Wilson cloud chamber b) Proportional counter
DeN® g DA . ReuNoDO Neasn 3
c) Geiger - Muller counter d) Scintillation counter
ARG -S0eb Keatdo e Heatsihino
52. The crystals that are bound by weak vanderwaals forces are called
20trS FokE S pere Ji Do8odndd HBPOD ~——mmuee ©o&HH 37.
a) lonic crystals b) Molecular crystals
©dirE GBsren el BEren
i ¢) Covalent crystals d) Metallic crystals _ﬂ
i : QD@ read ot 2yBseen S $)Bseen EN k:
| NC-18/T Code -102 e
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I y 53. Copper chloride (cuCL) s an example for

g5 &8 (CUCl) SR80 b A
a) Ferromagnetic materials
?;:@S‘@(ﬁsﬂﬂgpéi SrTpen
| b) Paramagnetic materials
I'i] Fo° ©CHIoH SoPTpen

'. c) - Diamagnetic materials
Bair eahIod Soeeren
d) None
RTAls et

54. The S.I unit of emissive power (e) of a surface
8 Soin CwE) el dgiin (6) Bws) S.1 [Shroso
a)Js”! b) Jm? c)ws’' d) wm?

55. A ray of light is refracted through a spherical surface of power 10. The refraction

matrix is
aH08e Lo 10 Ko a8 Figreed desn Sob 2. =208 S8nsn a@amso BobSHL,

5@;5:3;5 &85

3. 103 L 10 SRR
Dlo 1 Bl 1 ‘U0 el ol

56. Ifthe uncertainty in position of electron is 0.2A°, the uncertainty in its momentum

18 kgm/sec

28 Do B0 Fod BRTS 0.2A°, ®ond, ($HHHE0DH EHFSES” eRSs
@

------ kgm/sec

a) 25.2x10% b) 16.5%x10* c) 33.1x10% d) 2x10*

57. Which of the following represents the Schroedinger wave equation for a free particle
) Bmsiooiso (PB0E Sdor SdEGe

8) V2 +2m/h*(E-V)y=0 ) Vi +2mE /WPy =0
| OV +2m/ K (E-V)y=0 O Vy+2mE/ Ny =0

- NC-16/T Code-102 (13) S



61.

62.

s T )T

- Which of the following molecule is a heteronuclear molecule
& (Bod S D6 Derd Boreniie ERE)
e o, N,

b)

d) 1001001011

The ratio of energies of x - rays of wavelengths 0.01 A’ and 0.5A° will be
0.01 A® 58080 0.5A° $80i Busseoko 8dwre e 5,8
a) 2:1 b) 1:2 c) 1:50 d) 50:1

Out of the following transistors, the frequency of emitted photon will be maximum
for o

& L_soa &S 308 SRS PPerS PS:Hgo KoKW

a) n=5 to n=3 b)n=6ton=2 c¢)n=2ton=0 d) n=0 to n=2
The magnification (m) of an optical system is

a8 §yT° 58 Bw) @585 (m)

a) btaD, | b) c-aD,

c) 2/b+aD d) 1/(c-aD,)

In Davisson - Germer experiment maximum intensity is observed at
CDS NGB (SArHne® KBy bses S DEYHE08.

a) 50°and 54 volt  b) 54° and 50 volt

¢) 50°and 50 volt  d) 65° and 50 volt

Which of the following represent the bond length fra) in diatomic molecules

& (Bob NE° 28 BBBSrmE vmge D 2o HEH (1,) o D08,

c) (pr)-]fz d) (ﬁfj)”z . ;




66.

67.

68.

. Inwhich of the series the Wavelength Of;eﬁas lies

in ultraviolet region

& (800 Fmod® HFE* siors B50 Deser ©0I0E S (08065 Sou bi%;

a) Balmer series
ars0b (3D

b) Paschen series
FHS (3D

c¢) Lyman series
B85S (3B

d) Bracket series
(98¢ B

A particle of mass 'm' is movin
Broglie wavelength is

M (BE50°8 Ko o8 Smsm v SKsns SO%R0. B K848 'k’ wand & - @eh
Sor @y,

g with a velocity 'v'. It's kinetic energy is K then the de-

a) hk2v
b) 2hvk
c) 2v/hk
d) ‘hv/2k

Which one of the following is the petziwal's condition for the elimination of curvature
S(ES ©F DHHSZ0H SonoHe aH@ErRoS, & BoB =J&° 5 SESeasio 28arS
ﬁcﬁosﬁmﬁa QP ob.

B b) 4Y;sin®, = 1, Y, sin®
a) g Hh 1=ty 2
| _h+f
) tufy+ i fy =0 iy

A point charge 'q' is placed at the centre ofa cube. The {lux linked with each face of

the cube is
2.8 $o55 Bolsn 5§ ‘q Doth eIeRY S0DTHD, ey a8 Soos®

Pogrsons edarsesn.

~ NCa6/T code-102 (15) ‘pTO.



69.

70.

71.

72;

T

The mechanical force per unit area of charged conductor is
e .
2.8 938 rdrdsn ¥ (Hdre Swrogo SUTD drol@8 podn

: 2

2
©) EEI2 D 2/E

The example for the polar molecule that has un-symmietrical structure and a permanent
dipole moment is

OGS Voyeasin S TS BYG0S (grsoEsy EOAS F)DS @Y oS
a) CO, b) Hel ¢) H, d) O,

The dielectric constant of a material is 5. It's electric susceptibility is
¢’ IN=nt (&, =9x 1072F /m)

&8 SorEsosth 5958 Yorokin 5. o) Tt
S5O0

I N=-m (&, =9x10"2F / m)
I
a) 13x10-12 b) 22x102 c) 36x10-12 d) 45x102 |

A capacitance connected to a 10v battery collects a charge of 40 micro coulombs
with air as dielectric and 100 ¢ with o] as dielectric. The dielectric constant of the
oil is !

10V 55¢»08 rm® 655580 o Barh
S38n SRS, BBOE Hose
6385 DRI, eond 3 @y
a) 2.5

c) 04

&8 5 EDBSHG TID 40 DEDeromme

DGy 503 SsBors VYHDEH 100 DESHerod o
8) 8%s¥ QT8

b) 4.0 |
d 1.0 7.

g apacitance will be 4][
&8 JEroSE Sebe BIneE BrRS ‘Co 3065 Seose
Sror) 3o dn,
B8 Hoy BTN HKSw SSHH B i B C
a)C b) C/4 c) 4C d)2C r
d)



75.

76.

l
e

17.

Vi 15,,,,1=,1;4s;1-»"|'r1etre2 is equal to o
g 30f/DeE" & Bod 08 K:é:ﬂﬁ&::s:
~a) lampere - metre/Inewton

ey B
e L R AR T 1 1

1609095 - 8oer6/18mts5
b) |newton-metre/lampere
187508 -~ e8/1e0HaH6
¢) Inewton/l ampere-metre

1875805/ 1855808 180DAHE - &ness
d) lampere/l newton-metre

1 ©0aHS/ 1 Smgeol - &oeos

An iron rod of cross sectional area 4 sq.cm is placed with its length parallel to a
magnetic field of intersity 1600 ampere/metre. The flux through the rod is 4x10*
weber. The permeability of the material of the rod is

1600 80aH5/0e8 HHS So echImod FEoss FrH SSrosborr Hotky

4sqem SIS Brogose aEl eospdss. @ Shbomr eahIod edardEn
4x10% I06 wond © 8¢ Soegin @) (BIgdos.

a) 0.84x110- b) 0.49x10° ¢) 0.63x107 d) 0.38x10°

If'q' is thegharge of a charge carrier, }j' is its current density and 'n' be the number
of chargg garriers, then the drift velocity of the charge carries is
‘Poss e3¥ Trsre eld, ] D8RS Barst JolEE Hdc M slwe Jowg
®ans, sad ararsee (B Briso

a) g/ nj ~ b) j/ng
¢) g° / nj d) q/nj?

The Hall coefficient (R,,) depend on
S horksn & Bobd ®odsNR SEBHEE.

a)  Thenumber of charge carriers per unit volume only

B 5 HEEPEENE®D B TFEe § r,)omgu; S S
b)  Charge on the charge carriers only"

638 oD fo eddsnp SrED
¢) Both (a)and (b) }

(@) Hobasn (B) o
d) None

QBB !

NC-Wr Code-102 an o IETOE
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\.,r“\""

79.

80.

Atm:sm has current gain 40. If collector load resistance is 4k () and 9
resistance is 1k Q) , the voltage gain s

EPHE B8 QxS (Hars ergrossn 40. 855 ¥ gr8 A6%Ew 4k () _
DSE Q&G wons 1k :ﬁga ePePOESn _ | Eﬁa:ﬁ

2) 10 b) 160
¢) 80 d) 68
The photo electric current is 32
5°08 NS (s
a) Independent of intensity of light
08 BBED BEREHEL
b) Dependent on frequency ‘
T DO D STEHLH0B. :
¢) Independent of fr;quency and depends on intensity 3.
PHYIOD SEREHED DO HSS D STrESESH0E |
d) None ofthe above
A~
Eh:: ;:;t:iiscc{:;l:;s applied to the atom, each spectral line splits into serveral lines. ‘
| 4. 1
:; m: g8 Eler) 005G0RH0. 2.5 35568 w3 Spenrr DEDGH ;
a) Zeeman effect b) © Compton effect &
25eS (Herdin S0HS Sersiso
c) Stark effect d)  Photo electric effect
REG), (e

5208 Deixg8 (Harssiso

(18)




ES.

Jovs

. 82.

83.

¢) 3.3x10"°m

The shape of the orbital occupied by the electron ;5 given by

a) Principal quantum number

’ b) Spin quantum
BN 52500 Sogy S swobH Howy

¢) Total angular quantum number d) Orbital quantum number
o S8 soS Koy SgmEobSH Sowg

A dust particle of mass 1 mg is carried by air with a velocity of 100ms™'. The
DeBroglie wavelength associated with it will be

Bgoe So o8 DinSnin 38 100ms’ 35508 80 otd, Aaeh sof
B,

a) 3.3x10?m b) 6.6x10%*m

d) 6.6x10*m

If'R'and 'R.' are radii of curvatures of a lens and ' # ' be its refracture index. The
condition for minimum spherical aberration is
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Two coherent sources whose intensity ratio i1s 81:1 produce interference fringes.
The ratio of maximum intensity to minimum intensity
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ina plate of focal length 15¢cm for light of 6000An

86. The radius of the ﬁrst zone
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a) 3x10'm | b) 3x10°m
c) 3x10%cm ; d) 3x10°m

87. Two polaroids are adjusted so as to obtain maximum intensity. The angle th .4'

, which one Polaroid be rotated to reduce the intensity to one fourth
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fg The main features of Laser are

a) High degree coherence b) High intensity
OSFE Doy ©0s S8

¢) High monochromacity d) All the above
8 HZE P25

If a glass plate of refractive index 1.5 is used as a polarized. The angle of polarization
is

1.5 SEFSS Hradsn So a8 rrer Hok &S0l aSBPACDSYD, se Ensn
a) Cos'(1.5)

b) Tan'(1.5)
c) Sec!(l.5)
d) Sin'(1.5)

A current of 5A is flowing at 220v in the primary coil of a transformer. If the voltage
produced in the secondary coil is 2200v and 50% power is lost, then the current in
the secondary is

220V S .8 (¢2X) G5 D BrHs® 5A Deiggthy BSrODHHB. T HrsHee®

2200v S°g8 HBakn 50% Fgssn I8, T BXHRE® D Barsrdm
a) 25A b) S5A

c) 0.25A d)  0.025A

The dimensions of mutual inductance 'M' are
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A condenser of capacitance 0.5 £ F discharge through a resistance of 10Mohm. It's

time constant is
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a) 3 Sec b) 6 Sec

c) 5Sec d) B8 Sec
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9 i ' itted to distant places at
. Alternating current is transmitte _. .
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a) High voltage and low current
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b) High voltage and high current
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c¢) Low voltage and low current
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d) Low voltage and high current
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95. Inan A.C. circuiti= 5 sin(l[}{)r—?rf2)and v=200sin(100¢7). The power

consumed is
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a) 500/ 2 b) 1,000 c) 500

d) zero (f&rsﬁéo)

96. The dielectric constant of quartz is 4.3, It's refractine index is
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97. The equation VxE =0B/pt represent the following law
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a) Maxwell's law z
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j r:.) Neither N-type nor P-type
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Boolean expression for XOR gate is
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a)Y=A:B+A B
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b)Y =B+ AB
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'100. When the Young's experiment is carried out in air, the hand width is 0.04mm. Ifitis -
carried out in water, then the band width
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